Have your trig identity sheet out

Make sure you have those identities on your paper

- 1 32. sin2u = 25ny sy
26 cos (xe)= e . iciad i cost=siy
41 Cos (x-j) = (03Xeosy 4 sinxSing I
22§ sin Cyed) = Sntosy =IayBuEly | 3u. fak2y fans

= A ij) T SiAXCoSy - SingCosX .

':l »
| - ) | {35 sides

_g(ﬂ DCosX =\ 2 )
Cosn.t Al <N Kt-‘%s::?x-_}:()
N 5o 3, L2 A ‘
- 3 a5 ‘y %}@mﬁo:o
: o + (k-2
sT/3 (4% g1ﬂ N= __}

(N
S <
~1 £Sinx & | 7[('/’\" “?—):-TI
-\ Lo | 2
T



te Produch

o— \o
sin G9-Sia @ o
Sia - Sialy
— L CoS é}ik__ Sin S‘KT??C_:D = 2 oS ?:..;:b.s;g;ﬁ

2
\LI_B)?J@
. -
2 ([—l‘sm x) Sin X =p —Z YT
. S'-'l"\\i':o '|—.2_$IHL¥'_G
Tq}b Y— [_‘-_ 2_"3':{:‘?_?(
X =T < T
Sim Y= L
N A 3
5!'(1)( = 'f,‘ ‘j_é“.
2.
:’-T)J_J



t|2. Co0S 2+=COS+ CosAU =2 v - |

—COS+ - coSt 1329
CD§7_—l- COoSt =0
CoSx= -\ (COSX=
gs;— [—(OSY 2
Ce - ¢
0 2 X= 21 Y
CCOSX %d(’%x ) 2’1/3 3 ,__‘_511_—)0

2u*—uUu-\—0 __2
51"/

L%} Sinlesx)=

. XN S
Sl‘\tﬁ%ﬁ):\ (,om?:;( Q"“éogo
(PSX =6 L/
Sin @os X)

SAcad= )
7y ’-‘-%t (X =

T
= 7

N curdnS



A COSLX T S5(0Sx= 2
-5 -2

COQLX +D0SX-2 = o
<2202 (087X -] + Blogx-2-= o AQPQE
1(0ST X +950 Sx - 3= ST/3

(p'w_, (COSX 40 ((65%=1)
COSR= [ J

CoSx=12 \ SY>

3/\/ A: :7‘0[0
B\ F B-‘%’)DO
) ="+
P\ 1
< L AAS |
sy F4 SwaB} swm A
F 0w < C
)
b sSNM2g =GN 33 ) (@) (SWAI) (O -(Smi%l)(’} M)
b= 3.9 C= 66
C- éC LG oY~
| (57N = (s e (R

C =6 - (6



